5.3%

5.3¢ A circular plate having a diameter of 300
mm is held perpendicular to an axisymmetric hor-
izontal jet of air having a velocity of 40 m/s and
“a diameter of 80 mm as shown in Fig. P5.38. A
hole at the center of the plate results in a dis-
charge jet of air having a velocity of 40 m/s and

a diameter of 20 mm. Determine the horizontal
component of force required to hold the plate

stationary. FIGURE P5.38 °* 1_

The contol volume contains the plate and flowng ar as mdicated
i the sketth above . Application of the hovizontal or X
divection component of the lincar momentum egquatim yields
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